N = 0 &8 AF S & A A
20159 & 20l & LB H L IIEFSE S A
2N BEAHSHBIAZRRA
Hz: HAH - 2H . SM2B0F AIEZA L ZAIER(BEA/EAHA2)

Erel: pimoler ste CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
SAEIAZA 13,113,133 12,476,606 636,527

= 385,542
Xl 54,029
Dl 228,663
Al 12,444,899
E‘_DJ)' StH - SAE20F AIEZAF & ZAIAR(EAH/EA 4,593, 156 4,366,448 226,708
oz
= 385,542
Xl 52,379
Dl 228,663
Al 3,926,572
A8 = 1,120,116 1,080,763 39,353
= 105,000
Al 1,015,116
AR MNE2EH 2435 69,660 70,660 A 1,000
201 A E2AH| 39,260 40,260 A 1,000
01 Ar®2telt] 35,560 36,560 A 1,000
= 0l & 35,560 36,560 A 1,000
st= &S| 21,000
- S| M AFE D HI 250,000& =103/ 2,500
&3 2 AHOIU BN SEHI
50,000& x2H x153] 1,500
Sto| X & = MFP ] 1,000
CHRARE 2t 25,000& *4005% 10,000
ARE E2=S M 250,000& *123] 3,000
ALY Ao G 100,000& x15H x23| 3,000
HEna S| 3,000
=W S HE 10,000& *300% 3,000
I HS3AIE I 2 (KOLAS)2Y =X bl 6,560
ArE2te SEEI ¢ 3,060
= H| 500,000& x7H 3,500
AME2AAIEH 2RE £22(EH) 5,000
02 3294l 100 100 0
= 0ff & 100 100 0
SI2UAIES A AE S| 100,000& *13] 100
03 A2 HH| 3,600 3,600 0
= 0ff A 3,600 3,600 0
sgAEFAA 23 s 29 3,600




2N BEHEdAF2R
BE. D2 22 ZME0 ABAN U ZASR(2A/222)
Erel: pimoler ste CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
202 4 H| 16,000 16,000 0
03 =204l 16,000 16,000 0
= 0l & 16,000 16,000 0
S22 AYHLAR FNUF 22 A 12,000
=M s=Us &2A 4,000
203 YR F&H| 11,400 11,400 0
03 AMF=XHRFEH]| 11,400 11,400 0
= 0l &F 11,400 11,400 0
gaed 2@ d2F F4 12,000, 000 & *95% 11,400
207 AN H 3,000 3,000 0
03 Al&Ed 32l 3,000 3,000 0
= 0ff & 3,000 3,000 0
Mews 29 MWzl 3,000
SBZZ0F AE - ZAY S HE REgH JIgR=s 210,000 250,000 A 40,000
2 105,000
Al 105,000
101 elA4| 64,230 39,960 24,270
= 32,115
Al 32,115
04 JI2ZtHZ22NHSE* 64,230 39,960 24,270
= 32,115
Al 32,115
= 0l & 64,230 39,960 24,270
= 32,115
Al 32,115
HC 22 (ANE) =X EX3A 24(4Y) 64,230
23 57,380
= 28,690
Al 28,690
bl E¥= 5,650
= 2,825
Al 2,825
&40z 300,000 x4 1,200
= 600
Al 600
201 LBt 4| 71,000 84,000 A 13,000
= 35,500
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2N BEAHSHBIAZRRA
BE. D2 22 ZME0 ABAN U ZASR(2A/222)
Erel: pimoler ste CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
01 =2UWAH Al 2,040
= 0l & 4,080 5,400 A 1,320
= 2,040
Al 2,040
dc2e us ¥ 88} s 4 4,080
= 2,040
Al 2,040
04 =M st0dbl 4,500 4,500 0
= 2,250
Al 2,250
= 0l & 4,500 4,500 0
= 2,250
Al 2,250
SMEEY &4 mduns FIt 4,500
= 2,250
Al 2,250
207 AP oHEH| 66, 190 66, 140 50
= 33,095
Al 33,095
03 AIEAHRH| 66, 190 66, 140 50
= 33,095
Al 33,095
= 0l & 66, 190 66, 140 50
= 33,095
Al 33,095
AEZE A M EH| 66, 190
HEIIA L Al 56, 190
= 28,095
Al 28,095
CAED R Y EB 10,000
= 5,000
Al 5,000
HAF KX & 22 840,456 760,103 80,353
201 52 AH| 598,759 554,108 44 651
01 Ar®2telt] 110,665 108,684 1,981
= 0l & 110,665 108,684 1,981
PO RAIE 2 E 22 13,284
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SN BAEBEARR
HM: BH . 8H . SLU20F AEZAL L ZAIER(BA/E
e e =l ST = S
- - _ 0l &FoH & S T 0] AFoH —~
SN -3 .42 (3H) - HEMNY - BES ZE o) (D1 =™ oH) Hns2
O o M o M
02 22=29H| 488,094 445,424 42,670
=0l At 488,094 445 424 42,670
SASANI Z2R3 228,820
HIQ2 17,400,000 * 128 208,800
N = 400,0002 x12% 4,800
e =] 160,000 * 122 1,920
CAARZ 200,0002 *12% 2,400
32 700,000 x12” 8,400
PHEZ 2,500
SASHMLA ZRR2 28,080
Sl 1,000, 0009 %20 2 %122 24,000
AXT 3 50,0002 «204 A * 122 1,200
ol o= 1,200,000 *40% 480
SR 200,000 122 2,400
EMNEAMAANL 2222 18,280
I3 1,100,000%! 122 13,200
N o= 110,000 122 1,320
SotEER2 80,0002 122 960
M3 200,000 122 2,400
fEHR2 400
TMS(HIIQSE=SHY) AL 104,656
HE2LAMNES(HINLEETY)
50,0002 «243] & * 122 14,400
SHOUHUWS MAIR2 (Y - AU
ZIIE) 40,0002 x2335] ¢« 122 11,040
S (A BUH)
1,280,000% 122 15,360
HMIQI(WIIIE=29 M)
92,8002 x50 A+ 122 5,568
MINQB(UILE=HY)
200,680 *21JH A * 122 50,572
H2IHAAMNB2(AUHBIESHY)
50,0002 «113] & * 122 6,600
COSSEIIY RAQHYAR2
31,0002 33| & 122 1,116
TMS(=ENSSHY) AL 16,320
HIQB(FENS=HY)
20,0002 x 120 A x12” 2,880
CIHY I HAZE(=ESE Y &
) 40,0002 *135| & 122 6,240
HEILAMNEBER(FENSEZY)
50,0002 *123] & » 122 7,200
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2N BEHEdAF2R
BE. D2 22 ZME0 ABAN U ZASR(2A/222)
Erel: pimoler ste CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
= 0l & 72,600 72,600 0
CHol & =t 50,000 x121H 123 72,600
301 LEtEAZF 41,597 39,395 2,202
08 AN=ERRIELS 41,597 39,395 2,202
= 0l & 41,597 39,395 2,202
MNIERQRIAELZ 41,597
== 134,550& x10 «12& 16, 146
-S4l 6,000& x222 »10Y «12& 15,840
e =3: ] 3,000& x222 10 «12& 7,920
- O =l 288,090& «56H 1,441
- MolEE = 25,000& «10H 250
307  glztol A 81,000 81,000 0
05 CIZtAEZ 51,000 51,000 0
= 0l & 51,000 51,000 0
HAF HA FE 2L 51,000
07 HA3X=2=2 30,000 30,000 0
= 0l & 30,000 30,000 0
d2i=s= 30,000
401 AI&HIZ =0 21,500 13,000 8,500
01 Al&HI 21,500 13,000 8,500
= 0l & 21,500 13,000 8,500
Z2AA L A2 DA(FAE) 7,500
Hret & Erdl X (BtosateE) 5,000
NAHEA 4 9,000
405  AHaHFESHI 25,000 0 25,000
01 XaR=ESHSHI 25,000 0 25,000
= 0l & 25,000 0 25,000
SESEX 25,000
2y S 2Al 2 oY 879,844 810,054 69,790
= 92,429
J| 218,407
Al 569,008
284 HoldHA ZelAY 110,650 60,650 50,000
201  et2I| 12,700 12,700 0
01 At 2eltl 4,700 4,700 0
= 0l & 4,700 4,700 0
Ol A JtEE =3l 4,000& «503] 200
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2N BEHEdAF2R
BH. D2 82 BME0 ABAN U ZASR(2A/222)
ol 2oy SH Al Y ol CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
207 A = 13,533
Al 13,534
03 AlEd 3l 27,067 28,864 AN1,797
= 13,533
Al 13,534
= 0l & 27,067 28,864 AN1,797
= 13,533
Al 13,534
AEZ A 2 1] 27,067
= 13,533
Al 13,534
QIZ2UT MBA HEAAALS(ZA) 14,200 14,200 0
2 7,100
Al 7,100
207 A 14,200 14,200 0
= 7,100
Al 7,100
03 AlEdH 7| 14,200 14,200 0
= 7,100
Al 7,100
= 0l &F 14,200 14,200 0
= 7,100
Al 7,100
AE AN 2 6] 14,200
= 7,100
Al 7,100
lOI= ERII&E ALY 130,000 130,000 0
J| 65,000
Al 65,000
101 elAd4| 44,482 40,888 3,594
| 22,241
Al 22,241
04 JIZtHZ2Z2NSE =+ 44,482 40,888 3,594
| 22,241
Al 22,241
= 0l & 44,482 40,888 3,594
J| 22,241
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2N BEAHSHBIAZRRA
BH. D2 82 BME0 ABAN U ZASR(2A/222)
Ciol: oy S8 A L oY CERT
M- ZE . B9 (3) - MRAY - BAS (ggj) @(ijf;ﬁ% HRE2
Al 22,241
AEAMAMNRE E5(2Y) 44,482
= 39,898
Dl 19,949
Al 19,949
-5 BEE = 3,984
J| 1,992
Al 1,992
R 300,000& *x2H 600
Dl 300
Al 300
207 AP IoH | 85,518 89,112 N 3,594
Dl 42,759
Al 42,759
03 AIEAHRH| 85,518 89,112 N 3,594
J| 42,759
Al 42,759
= 0l & 85,518 89,112 N 3,594
Dl 42,759
Al 42,759
A EZAHH 2 U] 85,518
Dl 42,759
Al 42,759
CZ2HI0IHA TS Aga 2AY &H 28,588 28,588 0
Dl 8,588
Al 20,000
207 AR IHEHI 28,588 28,588 0
Dl 8,588
Al 20,000
03 AIEAHFRH| 28,588 28,588 0
J| 8,588
Al 20,000
= Ol & 28,588 28,588 0
Dl 8,588
Al 20,000
CEH0led A AEAIY S 28,588
Dl 8,588
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SH-EH. (AN NRANY - B (o) ) HDE2
| | Al 20,000
S 200l H A ZPAITMAH AL 35,840 35,200 640
2 16,800
Al 19,040
207 A 11,200 11,200 0
= 4,480
Al 6,720
03 AlEdH 7| 11,200 11,200 0
= 4,480
Al 6,720
=0 &t 11,200 11,200 0
= 4,480
Al 6,720
NEEDSEL] 11,200
= 4,480
Al 6,720
405 KHatFE SHI 24,640 24,000 640
= 12,320
Al 12,320
01 XaH=ESHSHI 24,640 24,000 640
= 12,320
Al 12,320
= Off & 24,640 24,000 640
= 12,320
Al 12,320
SE XS ZI|(PCR) 10,640
= 5,320
Al 5,320
Ol AFSHEFA U 2FD| 10,000
= 5,000
Al 5,000
HHE LS 4,000
= 2,000
Al 2,000
SESEJ| H0ldA AEA ZAY 22 32,890 32,890 0
J| 16,445
Al 16,445
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2N BEHEdAF2R
BH. D2 82 BME0 ABAN U ZASR(2A/222)
ol 2oy SH Al Y ol CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
J| 28,056
Al 42,084
405  RHA&HFE S 20,000 45,000 A 25,000
J| 8,000
Al 12,000
01 A& ESSFHSHI 20,000 45,000 A 25,000
| 8,000
Al 12,000
= 0ff &F 20,000 45,000 A 25,000
Il 8,000
Al 12,000
A ARUMHOIA 20,000
Il 8,000
Al 12,000
HEH AU AL 27,000 27,000 0
J| 13,500
Al 13,500
101 ol24d| 10,790 10,266 524
J| 5,395
Al 5,395
04 JIZtHZZ2NSE =+ 10,790 10,266 524
| 5,395
Al 5,395
= Ol & 10,790 10,266 524
J| 5,395
Al 5,395
A ZAMRRA B4(19) 10,790
23 9,816
J| 4,908
Al 4,908
-bUl EEE 974
I 487
Al 487
207 AN HI 16,210 16,734 A524
J| 8,105
Al 8,105
03 Al&EdHI 16,210 16,734 AbB24
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2N BEHEdAF2R
BH: D2 S BME0 ABAN U ZAGR(2A/2AYE
Ciol: oy S8 A L oY CERT
SH-EH. (AN NRANY - B o) ) HDE2
J| 480
Al 480
3o & stg FA 960
J| 480
Al 480
207 A 16,873 16,456 417
Il 8,436
Al 8,437
03 AlEd 3l 16,873 16,456 417
| 8,436
Al 8,437
= 0l & 16,873 16,456 417
Il 8,436
Al 8,437
AEZ AL 2 1] 16,873
Il 8,436
Al 8,437
S22 L XN E A 60,750 54,000 6,750
J| 30,375
Al 30,375
207 Ao 60,750 54,000 6,750
J| 30,375
Al 30,375
03 AlEdH 7| 60,750 54,000 6,750
J| 30,375
Al 30,375
= 0l &F 60,750 54,000 6,750
J| 30,375
Al 30,375
A& & AL & B 60,750
Il 30,375
Al 30,375
ASED FH22 A g 107,188 107,188 0
= 42,875
Al 64,313
101 elA4| 42,334 40,888 1,446
= 16,933
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2N BEHEdAF2R
BH. D2 82 BME0 ABAN U ZASR(2A/222)
Ciol: oy S8 A L oY CERT
SH-EH. (AN NRANY - B (o) ) HDE2
Al 660
PFGE At EII S 239 &4 1,100
= 440
Al 660
207 Ao 61,754 62,300 A bB46
= 24,702
Al 37,052
03 A&7l 61,754 62,300 AN 546
= 24,702
Al 37,052
= 0ff &F 61,754 62,300 A bB46
= 24,702
Al 37,052
A& & AL = B 61,754
= 24,702
Al 37,052
Al OUE - SHE MY &2 524,667 536, 190 A 11,523
= 50,000
Xl 52,379
Al 422,288
AS HEY FA 67,630 66,550 1,080
201  etI| 9,000 9,700 A 700
02 =294l 9,000 9,000 0
= 0l & 9,000 9,000 0
AE 3 ALEH =X 2el 9,000
207 A 31,750 33,750 A2,000
03 AlEdH 7| 31,750 33,750 A 2,000
= 0l & 31,750 33,750 A2,000
AEZ A 2 1] 31,750
Al ok 17,500
AMEIT L 23 12,500
PLIS ESEN 1,750
405  RH&HFE S 26,880 23,100 3,780
01 &R SSFHSHI 26,880 23,100 3,780
= 0l & 26,880 23,100 3,780
S XX S ZS=I1(PCR) 16,200
BEEZFEEX 10,680
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2N BEHEdAF2R
BE: D2 S BME0 ABAN U ZAAR(2A/2AYE
CHS: A OOIE - =M A oE CER-E
SH-EH. (AN NRANY - B o) ) HDE2
olotE otd A HA 74,658 154,508 AT9,850
201 LBt 49| 14,008 10,008 4,000
01 At 2eltl 2,008 2,008 0
= 0ff &F 2,008 2,008 0
QUES FAAL Sl 1,008
MEES S 1,000
02 22293l 12,000 8,000 4,000
= 0l &F 12,000 8,000 4,000
AEZALEY =X 12,000
207 AN H 45,650 40,800 4,850
03 Al&Ed 32l 45,650 40,800 4,850
= 0ff & 45,650 40,800 4,850
AE AN 2 6] 45,650
NS 22,550
ANEI7 ¢ 8 23,100
405 RHaHHE SHI 15,000 103,700 A 88,700
01 A& 2SSFHSHI 15,000 103,700 A 88,700
= 0l &F 15,000 103,700 A 88,700
SEEEAEX 15,000
AES FA22 SEIAM 47,255 47,456 A 201
Xl 47,255
101 elAd4| 22,212 20,444 1,768
Xl 22,212
04 JIZtHZZ2ANSE=> 22,212 20,444 1,768
Xl 22,212
= 0l & 22,212 20,444 1,768
Xl 22,212
ASA AMRE E4(019) 22,212
2= 20,006
Xl 20,006
-5l EE = 1,906
Xl 1,906
&03 300,000 «1H 300
Xl 300
207 A 25,043 27,012 A1,969
Xl 25,043
03 Al&Ed 2l 25,043 27,012 A 1,969
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2N BEHEdAF2R
BE: D2 S BME0 ABAN U ZAAR(2A/2AYE
CHS: A OOIE - =M A oE el a e
Kems.a9(3) HSAY - Bas o) ) s
03 A& A7l N 25,043
= 0l & 25,043 27,012 21,969
Xl 25,043
AEZ A 2 HI 25,043
Xl 25,043
AEA BAsE 2 100,000 92,000 8,000
2 50,000
Al 50,000
405  AHaHFE S 100,000 92,000 8,000
= 50,000
Al 50,000
01 A& ESSFHSHI 100,000 92,000 8,000
= 50,000
Al 50,000
= 0l &F 100,000 92,000 8,000
= 50,000
Al 50,000
N4ds HMIAZ0LE i Ul (HPLC) 100,000
= 50,000
Al 50,000
olorZ e At 5,124 5,676 AB52
Xl 5,124
207 AN H 5,124 5,676 AB52
Xl 5,124
03 AlEd 2| 5,124 5,676 A 552
N 5,124
= 0l & 5,124 5,676 AB52
Xl 5,124
AEZ A 2 HI 5,124
Xl 5,124
SME FFSA A 230,000 170,000 60,000
201 EtI| 33,000 33,000 0
01 At 2teltl 4,200 4,200 0
= 0l & 4,200 4,200 0
Fe stt2 S AL S EHI
7,000 x4 x150 4,200
02 22293l 28,800 28,800 0
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ol 2T Y B B XA CERT
SH-EH. (AN NRANY - B (o) ) HDE2
ot& =Z XAt M=z Hl 22,000
- A2 8,000
CAEIR Y 2SS 14,000
==& XA M= Hl 8,000
NS 3,000
CAEDIR % ES 5,000
=EUs=EY 22 M=

500,000 12K 2~ 6,000

405 KHaFE SHI 120,000 90,000 30,000

01 &L 2SFHSHI 120,000 90,000 30,000

= 0l & 120,000 90,000 30,000
ANOH-Hs 5 AsEED| 120,000

H==s 2 H=s A 93,700 122,500 A 28,800

201  LBt249| 17,700 26,500 A 8,800

02 23293l 17,700 6,500 11,200

= 0l & 17,700 6,500 11,200
AEZALEH =X 22 6,500
ASE A 875,000 =4 CH 3,500
NADAZ20EDHNE 500,000 =2CH 1,000
HHMIAZ0IEDNE 1,000, 000& »2CH 2,000
ANEZAESENLSAAE FEEZ 22 9,200
SEMMIAEX SEEKX LA 2,000

207 Ao 76,000 76,000 0

03 A& A I 76,000 76,000 0

= 0l & 76,000 76,000 0
AEZ AL 2 1] 76,000
- A 23,000
CANEIIR Y ES 23,000
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= 0l & 4,500 4,500 0
AEZALEH =X 22l 4,500

207 A 46,000 35,000 11,000

03 A& A7l 46,000 35,000 11,000

= 0l & 46,000 35,000 11,000
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ra

40
]
%

I E .S (3) - NSEAY - BAS o ) s
203 YR F=&Hl 475 475 0
03 AMHMFXHRFXH] 475 475 0
= 0l & 475 475 0
HAHE AUHBIIE DA HREFA
500, 000& *95% 475
207 AT 73,808 54,100 19,708
03 A&7 73,808 54,100 19,708
= 0l & 73,808 54,100 19,708
AUSIESFY 23 MW=t
176,000& x6I1 x187| J| 19,008
AHBIE ANEZ AT Z I 4,700
Al <t 1,800
CAEIIR Y ES 1,700
HEZEItA 1,200
FAASO0IEBAE SN ANMEZATHZYI
15,000& *1,500H 22,500
ZSLOG0IE 248 AMEHAMESHI 7,000
Al 1,000
AMEIIZ L 22 6,000
MEZSFE I NES A=Y 10,800
Al Sf 60,000 604 2 3,600
ANEIIZ Y 3 100,000 6074 2~ 6,000
PIES 20,000 6074 2 1,200
SAHEAN AIEHAMNZYI 9,800
© A 2,300
ANEIT £ 23 3,000
DI ES 4,500
Z HIIE=SE A & ASEFY 2Y 47,871 31,280 16,591
201  Et2I| 24,071 7,480 16,591
01 At 2teltl 3,620 3,180 440
= 0l & 3,620 3,180 440
BT A =8 2,420
CBEANE WAHEX (LX) 500,000 20H 1,000
- 2SAE MAEX(OFA)  440,0003 =104 440
- UOIHE A S8 (Sox S)
390, 000& 2CH 780
SOOI & Ot A =FDI(THC)
200,000 *1CH 200
Jl=Xlad 8¢ 100,000 »2Y *63| 1,200
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2N BEHEdAF2R
Y B2 - 2F - ZM20F ANEZA L ZAHR(BA/BEHOZ)
chel: ol 838 XA (e &
SH-EH. (AN NRANY - B (o) ) HDE2
02 =524l 20,451 4,300 16, 151
= 0l & 20,451 4,300 16, 151
AEZALEH =X 22 4,300
FAZ A D] 600,000 =4CH 2,400
=2SAME HAEX 300,000 4CH 1,200
sS#EZ4 0| 700,000 *1CH 700
L2SNSEFANLAE EFH 2L
209,750 x 7 A+ 11& 16, 151
202  Oibl 9,600 9,600 0
02 FHOHUI 9,600 9,600 0
= 0ff & 9,600 9,600 0
ezds s34 2%
200,000 x4H x12& 9,600
207 Ao 14,200 14,200 0
03 AlE o7t 14,200 14,200 0
= 0l & 14,200 14,200 0
MNBEUHINE, ASLEISZ A M=l 9,000
Al S 3,000& x1,0004 3,000
ANEI7 2 83 6,000& x1,0004 6,000
A222E2EJJ 2€ M= Hl
1,300,000 *4H 2 5,200
odF Y BIARNESE =8 - 24 176,912 191,120 A 14,208
201 LBt 49| 115,992 130,200 A 14,208
01 At el 39,000 49,000 A 10,000
= 0ff & 39,000 49,000 A 10,000
oty U SFEHRIISESE(VCs) MHsSH
0|10 22 4,500,000 «2H 2~ 9,000
oty L FUHRINSGESE(VCs) MHsSS
4 AMAE =H 15,000,000& *2J4 & 30,000
02 23293l 76,992 81,200 A4,208
= 0fl &F 76,992 81,200 24,208
oHF AEZEAMEH X2l 5,000
PEMMABI SHX LAl 2,000
sZRE2E AIEHAEH RX2e 17,000
oy L FHLHRISGESE(VCs) MHs=
1D IgEZ &2 52,992
207 Ao 60,920 60,920 0
03 AlEdH 7| 60,920 60,920 0
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SM: BABZARE
BE: D2 S BME0 ABAN U ZAGR(2A/2AYR
CHol: JISHAE 02 W BHE OFE 2R CERT
I E .S (3) - NSEAY - BAS o) ) HDE2
01 At 2teltl 1,200 1,200
= Off & 1,200 1,200 0
D=k s Reigela] 500
&3 & Aol S=HI 100
3K L AP 500
a3l X A AFE D] 100
207 A 44,100 38,000 6,100
03 A& A7 44,100 38,000 6,100
= 0l & 44,100 38,000 6,100
SN E A M= bl 44,100
S22 023 A 1,100
SN2 IIESESAM 4,000
- ADI| REXS A 34,000
MDD WM sLd BA 5,000
ENE BAH(SESUAESR) 160,000 30,000 130,000
2 80,000
Al 80,000
201 et g| 10,000 10,000 0
= 5,000
Al 5,000
02 2294l 10,000 10,000 0
= 5,000
Al 5,000
= 0ff &F 10,000 10,000 0
= 5,000
Al 5,000
S MEH SR 2 10,000
= 5,000
Al 5,000
405  RhAFHE S HI 150,000 20,000 130,000
= 75,000
Al 75,000
01 A&MXESSFHSHI 150,000 20,000 130,000
= 75,000
Al 75,000
= Ol &t 150,000 20,000 130,000
= 75,000
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2N BEAHSHBIAZRRA
U RS EME0 AMTA L ZAGR(PA/PAR)
CHol: JISHAE 02 W BHE OFE 2R CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
Al 75,000
SHdE=4D] 150,000
= 75,000
Al 75,000
EMNS HA(MEYAEAT) 47,000 35,000 12,000
2 29,500
Al 17,500
207 AR IHEHI 12,000 0 12,000
= 12,000
03 A& AH2H| 12,000 0 12,000
= 12,000
= 0l & 12,000 0 12,000
= 12,000
SNMNIAMEA HZ I 12,000
= 12,000
405  XHAHFE S 35,000 35,000 0
= 17,500
Al 17,500
01 ML EEFSHI 35,000 35,000 0
= 17,500
Al 17,500
= 0l & 35,000 35,000 0
= 17,500
Al 17,500
S & X=ZDI|(PCR) 20,000
= 10,000
Al 10,000
SS+ M XD 15,000
= 7,500
Al 7,500
HEHSHAY(BEAHSZHAR2LR)(IIEH/IIEH 8,519,977 8,110,158 409,819
Xl 1,650
Al 8,518,327
oA A 8,063,810 7,635,018 428,792
ol 2A | 8,063,810 7,635,018 428,792
101 ol A H| 7,801,190 7,372,398 428,792
01 24 7,565,944 7,163,060 402,884
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
= 0l & 7,565,944 7,163,060 402,884
== 5,070,779
43 6,900, 100 x1¥ x12& x1.038 85,948
BeT= 4.000,400& *3H «12& x1.038 149,487
= 3,211,200& *11H =128 x1.038 439,986
= 2,865,200& x16H x 122 x1.038 571,023
= 2,700,900& x4 128 x1.038 134,570
9= 1,572,200& »2H «12& *1.038 39, 167
S 4,607,100@ x17H «12& *1.038 975,563
oA 2 AL 2,941,900 x73H x 122 x1.038 2,675,035
a2 5,079,779,000& x1/12%50%*23] 423,315
Al 2+Q| =&t 642,156
Y= 11,5913 x3H x44 Al 2+ x12& 18,361
62 9,886& *11H *44A| 2tx12& 57,418
V= 8,930& *17H *44 Al 2+ 12& 80, 156
83 8,017 3 *4H 44 A| 2tx12& 16,932
93 7, 2473 x2H %44 A| 2t x12E 7,653
S 11,6163 *14H *44 Al 2t x 128 85,866
- A AL 9,529% *74H 44 A 2+ 12E 372,318
S S =0l A 6,537 *x44A| 2tx 12 3,452
o224 38,112
A 2 AL 3, 1763 *BAl 2«6 H 250 38,112
s 96,260
B < Xt 40,0003 127 +0. 78+ 12& 47,549
S &H E=HlS 20,000& *127H «1.48%12& 45,111
0 (DIE 30,000& *10H x12& 3,600
ANESHEXZLS 37,658
E=-1am 463,300 x127H x0. 16*43| 37,658
OIS Y 2,142 600 x40%* 12& 10,285
2elgRae 5,084,200& x2H »7 . 8%+ 12& 9,518
H24aY Jpa2 125,520
20 0] & 100,000& *75H x12& 90,000
- 15@-20& 0| 8t 80,000& 15 x12& 14,400
- 108 =154 0] 2t 60,000& x21H x12& 15,120
- 5E-104 0] 8 50,0002 *10H x12& 6,000
29 FIOIHA3 22,680
- 208 -254 0] Bt 10,0003 18 x12& 2,160
- 25E 0| & 30,000& x57H x12& 20,520
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
S "2 (e &
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
s 149,505,030& *4. 1%+ 12& 73,557
FAE2RY 67,800
=5 50,000 *85H = 12& 51,000
= 40,000 *35H = 12& 16,800
=g sg 6,960
oT=1 50,000& *x1H x12& 600
g, /1= 30,000& *10H = 12& 3,600
8= 20,000& x4H =128 960
S22 (IIsSHE, JIAH
30,000 *3H x12& 1,080
JbAEZ (A DI AF) 20,000 *3¥ x 128 720
R 150,000& *10H = 12& 18,000
ARAR2LG 80,000 x81H x12& 77,760
EX(EY 2L
200,000& x1H x12& 2,400
Asidsd 40,0002 x6H x12& 2,880
DIAAR2E 30,000& x2H x12& 720
HoHZ A 130,000& 127« 12& 198, 120
H A& =S| 5,079,779,000& x1/12%60%*23] 507,978
A OFE AbH| 5,079,779,0002 *86%+11/360 133,486
02 JIEtAE 7,200 7,200 0
= 0l & 7,200 7,200 0
LGAESHAS(SSTLISAL
600,000 x12& 7,200
03 RIHALZ2ZXNHE S 228,046 202,138 25,908
= 0ff &F 228,046 202,138 25,908
MN&E L FA o182 200,528
JlE22 1,604,390 x7H »12& 134,769
CIIESY 3,840
-l < X+ 40,000 x5H x12& 2,400
&Y =HlS 20,000& x6H x12& 1,440
= = 1,750,000& *7H *200% 24,500
- M F A 60,0002 x7H x12& 5,040
- Y& SOy 1,750,000& 7 *120% 14,700
- CH el S Atbl 50,000 *7H x123] 4,200
A PN = 320,870& x7H x13] 2,247
- P A H| 50,000& x7H x12& 4,200
RS FISY
2,026,966 /226 Al 2+ *x8A| 2tx7H %14 7,032
ht B8 = 27,518
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
203222 199,887,000& *4.5% 8,995
NEaEge=2 199,887,000& *1.5% 2,999
MAHEEREE2 199,887,000& *0.7% 1,400
DoHuEsECD
ST 199,887, 000& *2.94% 5,877
CORIRABEEREEYZ
5,877,000& %6 .55% 385
SNz HaZ 1,604 ,390& *70%*7H 7,862
204 P AY| 262,620 262,620 0
02 AzZ8XH| 262,620 262,620 0
= 0l & 262,620 262,620 0
HARABSAH) 500,000& *12& 6,000
HARAUSNH) 400,000& »2H x12& 9,600
4= 400,000& x1H x12& 4,800
52 250,000 »3H x12& 9,000
62 155,000& *11H = 12& 20,460
= 140,000& *17H = 12& 28,560
8=2~9=2 105,000 x6H x12& 7,560
A2 250,000& x13H «12& 39,000
A A 155,000& *74H x12& 137,640
Jl22& bl 456,167 475,140 N 18,973
Xl 1,650
Al 454 517
Jl2 &4l 454 /517 473,490 N 18,973
201 282 HH| 107,862 99,712 8,150
01 ArE2t2lbl 107,862 99,712 8,150
= 0l & 107,862 99,712 8,150
EXA2Y JIS24+2H| 31,100
BASIARR 26,300
SMS M AL 4,800
o = X H| 56, 100
BASHIAIRR 49,260
SMSAME AL 6,840
l2gRsa & 20,662
BASHIAIRR 17,150
SMNEAME AL 3,512
202  OdH| 255,300 255,300 0
01 2L 255,300 255,300 0
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Ce: I3l (chg:®
SN FHE B (BA) - MEAY - AR (ggz::) @(ijf;ﬁ% HRE2
= 0l & 255,300 255,300 0
2L S &0 Yl 232,800
BASIARR 191,040
SMS M A 41,760
22 S&0HI 25,000, 000& *90% 22,500
203 Y= 42,755 37,975 4,780
01 JIA2SYLR=AH| 15,675 15,675 0
= 0l & 15,675 15,675 0
2&(33) 6,600,000& *95% 6,270
AT E2H42) 3,300,000& *3% x95% 9,405
02 HJAINNMHRFAH| 9,620 4,840 4,780
= 0l & 9,620 4,840 4,780
100 MH X 80,000& 100 8,000
101-400 N X 60,000& *27H 1,620
04 EANSILLRF=AH| 17,460 17,460 0
= 0l & 17,460 17,460 0
=21 250,000& = 12& 3,000
BAAIRE 420,000& 12& 5,040
AR 435,000 128 5,220
SAMSAME AL 350,000& x12& 4,200
204 NP AY| 24,000 24,000 0
01 HEZLRHAH| 24,000 24,000 0
= 0l & 24,000 24,000 0
2&(33) 650,000& = 12& 7,800
AR 2H(43) 350,000& »3H x12& 12,600
W, AR(Z2) 100,000& *3H x12& 3,600
405  XHaHFE S| 24,600 56,503 A 31,903
01 XML =SSFHSHI 24,600 56,503 A 31,903
= 0l & 24,600 56,503 A 31,903
A (B sA2) 300
SAI(ZA2, BIHSAS)
5,000, 000& =2CH 10,000
HIFE FEH L 2UH 12,000
BAHEHARA 1,000, 000& =8LH 8,000
SMS MBI AIA 1,000, 000& =4 LH 4,000
o124l o1 ED] 2,300
AlojotE A2 JI2AHAH(EX) 1,650 1,650 0
Xl 1,650
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